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SECTION - A

A solution reacts with crushed eeg-shells to give a gas that turns lime water

milky. The solution contains :
B! 5 of% R @R IRy oo ffur IR B (g B I | (TR
RN @I IR | HRCHIS U -

A6 59 Irel Fa fooe s sier RiFw @@ a9ib-smst Sm FW 1o
PTSEE (el I 1 5o aE

(a) NaC/
(by HC/
() LiCl
(d) KC/

2. Which of the following metals can replace copper from a solution of copper
sulphate ? 1

ER (FTACD! (IO IE BISTGHR 599 171 91133 WefEo e a -

Ao @ 410l S SIEEH 59 (UE S AHIGS FHS A1
(a) Silver
feerare
&l
(b) Gold
=G
11
(c) Zinc
fons
e s

(d) Mercury
TRIFSH

M IELT
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A molecule of propane has

LECEER S
qA a3 93l Iy

(a) 10 covalent bonds
10 ST arE7 Ans

10 f s & e

(b)Y 9 covalent bonds

9 SRS IER I
06 RS &R e

(¢) 8 covalent bonds

8 ST IR I
8 5 s 3 e

{d) 11 covalent bonds

|l Sursh IR U
1B s o 2

Choose the metalloid from amongst the following elements :

TS T GIRTRISE f41 et At SRvom 229
G T CRAS! (U LTI @TT Ao

(a) Sodium
efury
cfeum

(b)  Aluminium
Sl
afufrgm
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n

() Chlorine

@
crfem

(d) Boron
I{

@

Choose the correct answer :

aF Sgaws arfe SfFgal :

a% Sudld QT 713 :

The unit of specific resistance of a material in S.1. system is

A1 omIefY (FIUIOR A5 TR 9T

23 A YR @ER AR, 9T

(a) Q

(h)y Qm
() Qm'
(dy Qm?

Choose the correct answer !

a5 Suarh Ife SfFvat :

a% Sudb QT TS :

The magnetic field inside a long solenoid carrying current is
AT B 5 TINS5 feoes o e o7

srareges 3 A sEroIed foow e ova

(a) Increases as we move towards its end.
BUR 9189 T W A IW )
aft7 =ed frE F QTS I |
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(b) Decreases as we move towards its end.

EU 2187 TS W I 9 |
af7 A1Ee s Hor o1 T |

(¢) Zero
ety 7W |

<[t 7 |

(d) Itis same at all points.

S fem o I |
MR o 93k UWF |

7. Emulsification of fat molecule is carried out by

53 W@ AEliRess siofte #
s BvEfsfee=ia (Emulsification) siufte zw

(a) Trypsin
fetform

Trypsin 9 9141

(b) Pepsin
ctetferm

Pepsin 3 91491

(c) Bilesalts
fore st

Bile salts (3 #3) 141

(d) Amylase
ANTREACS

Amylase 9141
B15-GSc (New) (EN/AS/BN) 5
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The
he plant hormone which stmulates cell division is

@1 fosrome B qierq gal $Fwe S@ed el 1
Sl c1 s aR w2l corn Frorerm SRR Crism o ale

(a)  Auxin

BN
A
(b) Cytokinin
L DEE]
sierprakfam
(c) Abscisic acid
AEfHe afte
aSsiefre afss

(d) Gibberclin
favanafea

faraafera

9.  Which of the following is not a biodegradable waste

@A (1D e e aadian Ao
N5z @R TG g [EFET (biodegradable) Au ?

(a) Vegetable waste from the kitchen

ATITT 2N- AT [T
am! OEd E A ARG

B15-GSc (New) (EN/AS/BN) 6
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(h)

(c)

(d)

10. A piece of wire of resistance 2 Q is cut into four equal parts. These parts are then

connected in parallel. If R denotes the equivalent resistance of the parallel
combination, then2 Q : R is 1

2Qmw%awﬁhmmwwqws‘aumnmﬁﬁmm

Old and torn clothes

437 wH1 @sirg

UGN

Plastic packets
e Reviatl
A% *mres

Old newspapers
i@ ol s

(AR LIRS TG

wod pieoquuesse mmm//:dny

N 3 TH | NI e NPT @ R A O 2 Q: R )

znmaméﬁwm@mmmmﬂwmammnmﬁﬁww
STEST SROYI I LA | KNI SESIDE TGS @Y R 7 2 Q : R 27

(a)

(b)

(c)

(d)

B15-GSc (New) (EN/AS/BN) 7
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SECTION -B

L. (@) An object is situated at the centre of curvature of a concave mirror. Draw

ray diagram showing the formation of image.

O IS AT GrOETS B wwey e | <R e S
dfsfega <157 cryoat |
2% wwen i Sfowers Al awRy Al mwee | AFUbrE ST
sfsfrafoa <137 orarg |

(b) An object is placed at a distance of 10 cm infornt of a convex mirror. The
image is formed at 5 cm behind the mirror. Find the focal length of the

convex mirror.

ST AR 43 TS 10 E . TIS T TP 4B 41 OLE | WA (L
5 cafi. o ofefr b tae | $uE AR TATe o SfFaat |

TR T Sefrd TN 10 W R 230 WG I TR | sefeifba Freafce
5 o Ay ofofa «fo mure 1| Sue qefaida crramTaT R X |

12. A convex lens of focal length 30 cm produces a real image 3 times magnified.
Find the object distance.

30 cefi. ToTE WY 997 SuF @ACE 3 O AR 5 AR 5 T 1 AW Fga
JTY Ay &4 |
30 GifY (oTaT I 9B T TS 3 o1 AfRifS s ofofn s @
THIRYHT TAEA (F9) 07 T |

Or/AT/I4

An object of size | cm is placed at a distance of 15 cm infront of a convex lens
of focal length 10 cm. Find the nature, size and the location of the image.

1 (e ffy. SIRT AWT Y 961, 10 . T 318 W S e Q9Te TS 15 (@,
TS 1 w1 ofSfrr o3fe, ren e e Refu a4

1 Gifit RIEE 93 AWIRY 10 G (PN T 93 B IO sty 15 A
ey an1 e | AfORTR ol A R ST ey x|
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13,
Alias 93 4 aTwe e Ry wre Gl fay oo
N014E 2 S~ 9Fem @ 2 9w Fabfaqg § & 2

(b) - Why do we see rainbow after a rain shower

Y13+ anfin ot fow oyt 9

3festiees w1 At @

{c) A person needs a lens of power + 1.5 D for correction of his vision -

a)  What are the far point and near point of the human eye with normal vision? |

ATA AR qfEd feerer e fsnet + 1.5 D wWoR @E e sReeET

e |

AFTH @R 4fe IR o5 &g + 1.5 D wWor e ST o |

(1) What kind of defect he is suffering from ?
@4 5feq f Reres ofig ¢
foft & v 2 e grcew 2

(it}  What is the focal length of the corrective lens 2

AN TR T B T o 9
o e RN o

(iii) What is the nature of the corrective lens ?

AR TR =23 fos 0
ool rsfoe 430 N 1

B15-GSc (New) (EN/AS/BN) 9
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14, I .«
' the circuit given below four resistors Ry =7 Q. Ry =

10 Q. Ry = 30 € and

ate (1) the total resistance i

R, =5Q and a 12 V battery are connected. Calcul
the circuit (ii) the current in the circuit.

Wmmmﬁmmwn,=m.fz:=mfz.RfBOQ-RfSQWﬂBT 12

V @B SCuiet 4 e | IENAH (i) Fo @Y E (ii) b foro Tz oA AT
&4 |

=10Q, Ry =30Q, R, = 5 Q 92 bR @ A% Ao

Moz 6B R, = 7Q.R,
(ii)mmﬁqmﬁamﬂﬁmq

12 v TofE seours 49t TUte | IEANM0A (i) 6 @iy AR

Ay &

R,
Ry

R,
R|

L i——11 =
12 Volt
Or/AA/SUI

Show how you would connect three resistors. each of resistance 6 €2, so that the
combination has a resistance of

()9 Qand(ii)2Q
aﬁtﬁenmﬁﬁmmwmmﬁaﬁmmmmq
(i)9 Q& (i) 2QTI ?

o« 6 Q e oA e RO S FCT TEMoF TGS @MY
()9 QAR (i) 2Q T ?

B15-GSc (New) (EN/AS/BN) 10
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I5. Distinguish  between electric generator and  electric motor.  Explain the
. s . " “e . - .- s .y
functions of (i) the brush ring in clectric generator and (ii) slip rings in electric
motor. 1+1+1=3

QST OTEBT W Capfew Wea wroE e 5 Ae ? (i) RPOF AT
am f@ & (i) Wl wBeo M fReg (slip rings) IneT f5 2

ST EIDBR 9w Wyfos T e A R 2 (i) QPSS @A brush
ring (@ ) a& (ii) Q@yfew S5 slip rings (e fr) 93 Fvafzor amm @ |

Or/ARIy/S2AAt

Explain the phenomenon of electromagnetic induction with an experiment.

ﬁmamﬂmﬁmmmﬂﬁﬁmmﬁfmﬂl

A3 3w SRy [y ey WiReT «Afba arm @t |

16. What will be the work done in moving 2 C charge through a potential difference
of 12 volt ? 1

12 V ff@e cove P61 7@ MR 2 C WA 5o FEo e e ofdq afe ¢
12 Vv e cotir 56 e woer g 2 C s oot aate &« a7 Fa =@ ¢

wod pieoquuesse mmm//:dny

17. Problems associated with construction of big dams are (select the correct answer
from the answer given below) 1

IR AR A A0 Tfes & @ T SR ©F (oo fm a% Suath A
Sferaat)

I AR AT NN GGG S ShR AT ¢ (N9 8% 39 e A1)
(i) large areas of agricultural land are lost

R AT =157 AYR @@ 2 |

IR ARSI =IHCFT IS T |
B15-GSc (New) (EN/AS/BN) 1 Courd.
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() large cco systems are destroyed
™= Afsffoos e oy |
= Afafefos me ww |

(1) neither (i) nor (i)

(i) 3 (ii) Q513 A% |
(i) 92 (ii) 93 @GR AW |

(iv) both (i) and (ii)

(i) T (i) TEE! |
(i) 932 (1) 93 ok 7 |

18. What is ozone layer and how it is getting depleted ?

'S’ 89 [ e AR @S I aftre ?

ST (ozone) 87 & AR a3 TIFW o wee ?
Or/ARQ/w4

What is Ecosystem and what are its components ?

ﬁﬁﬁwﬁwm@mﬁﬂw&?
qﬁﬁﬁwaamaﬁaﬁmﬁamaa?

Wc short notes on any two of the following :

woTd U T o1 Gjeoram et |
Wmm@a@qﬁmﬁmmm:

(a) Sustainable management
IHN JaEeAl
JuAwY JTHAA

B15-GSc (New) (EN/AS/BN) 12
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(b)  Water harvesting

I NNTA

Gie] U

(c) Dams
AR

At J1g

20. Distinguish between fossil fuel and

solar energy as direct source of energy.

i groTs BeN fE5Ne Sarrors 3 O o AR g 390 |
g SO B R SRETSIS 35 23t ciefed gaat &l |

\}/ Write short note on any one of the following :

we1d 1 @IR1 9B GYCBraT foran |

@ @A a3 g vy b @yt -

(i) Hydro Power Plant
T A

G A

(ii) Solar Cooker
5'dAd PINE
1A JI

22. Why are decomposition reactions

Write equations for these reactions.

Roroe RiFTe swren RiETa
et
Fcrem T sreren [
@yt |

B15-GSc (New) (EN/AS/BN)

called the opposite of combination reactions ?
2

Rofe @ m By 2 Rer R sl
Relo =1 m @1 7 9% RfFm oEm siea
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23, Tak . L
ake 2 g of silver chloride in a China dish and place itin

o | U1 2 p fostore 1% Rl A1# Bura YA Al

sun-light.

gqo 44l |

A3 BAmvifda wrem 2 ¢ Frefor @S o aa afes st e |

(a)

(b)

(c)

What is the colour of silver chloride alter some time 7
fog sy Fres fesroe Ftse 16 fa 5 ?
fFg su + Rreror @Taiesg e & 2R 2

What type of reaction takes place ?

f& o ffrm swefts =3 9
P vz fifma safes =@ ¢

Write the chemical reaction for the above observation.

Goqq v IsnfRe Rirae A o
o rdEwine amnfe e e |
Or/ARAVIyA

Translate the following statements into chemical equations and balance them :

oeq ST IR SR §+10 fryt wie sigem 3
ve SrorEm ATAE SRR TWA (1041 AR FFe FQ |

(a) Barium chloride reacts with aluminium sulphate to give aluminium

chloride and a precipitate of barium sulphate,

@ﬁﬂwrﬁmaqﬁﬁmmaﬂmﬁ%mmaﬁﬁﬁmfm
Bem T WE QU STes TeafFg Ty |

M GRS SeffTm SEEEa Sox [T TR we sty amits
Beoin T 9 QRN SEes Srefsg =y )

B15-GSc (New) (EN/AS/BN) 14
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(b)Y  Zinc reacts with coppe

r sulphate to give zine sulphate and metallic copper.

-~

—

(@ SIS WIeUhy Ao Rfam oft fons erors oe €fod $9@ SRR
|

a
»
9§

A

B

Fona, S Semwcha sox R aara Wt Fotd WECES a4t €103 Feifd B
I]F |

(¢) Hydrogen sulphide burns in air to give water and sulphur dioxide.

TRG TEH SIETHIRS IO TIfES & A1 Wi TeTel GRS SO 50 |
TRGTCH HEATRSG IS 56 5 O 932 SEAETE SI2-WHBG SR I |

Whatis pH ?

You are given two solutions A and B. The pH of solution A is 6 and pH of the
solution B is 8. Which solution has more hydrogen ion concentration ? Which of

these solutions is acidic and which one is basic ? 3
pH 1& Q=1 ?

OIE A I B 591 50 BN T | A 5IOR pH I T 6 Wi B-&AGR pH-3 ¥ 8 |
@R IO TG S ST Mot & 2 R QI WfEs W< (106! W & 2

wod pieoquuesse mmm//:dny

pH®& ?

(OIICE 56 59 A AR B (1ol X | A 5afba pH 93 W7 6 Q& B-gHd pH 93 A

] I@ﬁmmmw@ﬁ?ammﬁmsmmﬁmﬁu
5q 7
Or/RTRA/=AA

What is Plaster of Paris 2 How is it prepared ? Give one important use.

BT w7 (oif¥E 1 RO @
S ﬁqafgm@mg@wm?amwﬁewvﬁmmﬂl

g 41 TN ? BN 81 oFeel Iend fonat |

15 Conrd,
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J
wn

Ap oo
wﬁuodlc table has been shown helow

SN Group 5
Period | - o xvelxvi ! sy
—_—— ‘\'\. -
2 B D (_\
3 E

On the basis of the above table answer the following questions :
(1) Which element will form cation ?
(1) Which element will have smallest atomic size

(iti) Which element will have chemical properties similar 1o Magnesium

(atomic number 12)?

AT SIFAI 9B TR GG (Y91 T

>
o L ]I | XV XVIE] XV
2 B D C
k! E

a4 ofear VRS fBfs 3 orR #3mRe 897 forn

(i) AT CN=AR PBTHA 5167 KA ?

(i) FACE CeT ARNAGS WA ABROS TN 7 |

(iii) B! GIET IS o RATENN (MRNARS S 12) OIS A 6399 ?

+TiqS Giferard a3 TRt Ae YT =
f -
1| 1] XVI|XVI| XV
onfr |
2 B| D C
3 E

B3 O Wed fofE 3@ o7 FFBER I TNt

(i) R C= FIHBWA 77 I ?

(i) QW G AT WP S I

(iii) @M on=Iod s o ERIEE (RIS s 12) ™ 99R wamg 0
Or/ATka/sryat

B15-GSc (New) (EN/AS/BN) 16
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. <EY 0T g H
Nitrogen (atomic Numbe, 7) and

group 15 of the Periodic 1ah, ,
elements. Whigl, of the able, W

Phosphorus (atomic number 15) belong 1o

se ¢ e the electronic configuration of the two
M elementy i _
Ms will be more electronegative and why ?

7 _
150 AU | 97 ey e ) WIE Tew e (e ST 15) YT OifeTang asf

wﬁ;ﬂg imﬂiams{ %"'n |§WWW@%§$W¢

(a) Why is sodium kept immersed in kerosene oil ?
ﬁ‘mwmmﬁwm@mwa?
SReu 419 @7 @i o ity arut =q 9

(b) Write equations for the reactions of

oeq fAfFnaee asmfe sfieer By
Aees RifFat o e sl e -
(1) Iron with steam

TIY TN I S WA [

BTG TN A SO = f{fEm
(i1) Calcium with water

A1 =10 @Al RiFa

SR SO (et (it

(c) Explain corrosion with an example.
BT BATERTY 0SNG AT 4 |
03 Tatzae STECUICT FAGIA I I |
Or /ARt

http://www.assamboard.com
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(@)  You are given a hammer, a battery. wires and a switch.

(OIS b1 2TgR, 4Bt TR, e S e 81 ¥

OIS a3 wafs, aafs ), od) O o 43 T cowt = |

.  ctinoui stV .amples of metals
(1)  How could you use them to distinguish between samj |

and non-metals ?

aimamaﬁmqwmmma‘ﬁm?

4% TYOET I R 41g AR TG Ao TS FE ?

(ii) Assess the usefulness of these tests in distinguishing between metals
1

and non-metals.

mqwmﬁmwmaim@ﬁmﬁmwmms |
Wammwwﬁﬁmmswﬁmmw I

(b) Give reasons:
FHa O

I GYII ¢

wod pieoquuesse mmm//:dny

(i) Platinum, gold and silver are used to make jewellery. 1

S(ER1 2OUR IR cafpam, 'R e feeToe IR 9w |

weTE tofd I cafdAm, CIAT 93 T I9TT I 7Y |

(i) Aluminium is a highly reactive metal. yet it is used to make utensils
for cooking. :

o @R s o ot W WS IR T ST (o
@A I AW |

aiﬁﬁwm%ﬂmmmﬁﬂﬂaﬁmemﬂawm
oG IS I A W

B15-GSc (New) (EN/AS/BN) 18
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(1) How
)} How can you get compound “A’ back from ‘B™ 7

B” QB3 o3t~ A clnicht o coite @ik R A 2

‘BT Al cate A dleffs @ @1 o[Tam o Ui ?

(iv) Name the process and write the chemical equation for the conversion of "B

10 "A°.
‘B QB “A° alleite] 391 SeMrgq AFRFUIBR AN ATE 20 arsirofAs SRed
ot

‘B a@fore A cﬁtq&%mmmamﬁnﬁawamm&immﬁﬁ
agefp @t |

Or/AtRa3N/aryat

(a) Why is the conversion of ethanol to ethanoic acid an oxidation reaction ?

Write the reaction. http://www.assamboard.com

e A e AfStE S99 FAH! 5 961 et fofrmn 2 R fora o
AT RS AfTS @S Il @ 93l T f[frw ¢ Rfwnf e |

(b) How would you distinguish experimentally between an alcohol and a

carboxylic acid ?

o ST TR 47 = AE I e afeed NI AHew e o o 0

ﬁmmawmmﬁﬁaa&mw@ammm?

B15-GSe (New) (EN/AS/BN) 20
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(€) A mixture of ONype

N Ahviye fe . .
" ethyne is burnt for welding. Why a mixture of

ethyne and aip IS N0t ysed 2

G
ORIt s (Welding) wfarem ane Ruilwe G o o9 =0 |
m‘aﬁmﬁm%nmawm?

| RO (welding) sy wficer aes 3uUte R 529 39 20 |

hﬁwaa&mﬁmmwwwm?

28.  Write the name of two types of nerve processes. 1

IR 4979 NN T AW 4
7R 4 WY ARROT AN &Y |-

Or/33I/IYAN

wod pieoquuesse mmm//:dny

Give an example of chemotropism in plant.

e o Sitferre b1 Sareae fmn o

SRtz cornifong 9ah ST A1 |

9/D longitudinal section of a Mower and label the different parts. 2
/"Draw a

A e e foa i R 1 T s 41
Fﬁﬁwmﬁ@nmﬂwﬁ%@w |

TR A 3R 21 Conrd,
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30,

3l.

32

How fruit is formed in flowering plant ?
ST SEwe @EE v R
Horars Bfg% (e For weT SR 2 ?

Or/ATR=TY

What are the different contraceptive methods ?

fRfor kee sréfatae oo f& & 7
fifon yag s6faes +ufo & & 7

What is synapse 7 How nerve impulse passes across synapse ?

eREY 6 9 TR @XALS QIR NS 4 20 ?

SIRATeS B 7 Y oY DN SRAMS Neey Frw wrw 2
Or/Ara/srya

How Mimosa plant responses to stimulus ?

FrErd 2 @ERE SR 8fS ST A 7
frars Sfyw Sore SR ofofma @ ¢

How sex is determined in man ? Explain with necessary diagram.

arEs o @cte s 2 2 SreA e s amm 4 |
nﬁmmzﬁmﬁmﬁasmamﬁnhmmm.
Or/ATaATLA

How do the traits get expressed in plants and animals ?

s & SiMS QTS bfifad (RTRIA oS3t Ty 1
o BfEw an ATz oiffas tafEer = am ¢

B18-GSc (New) (EN/AS/BN) 22
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1+2=3
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-d
L

Describe the differ
¢ren ¢ " " i |
! L processes of release of energy from glucose i hiving
organisms,

o .
BT YT A7 Rofs xfipg fefon «5fs adar aat |

BNET YRS (U sk o fifen i aft o |
Or/RM31/3120t
How transpor of water, food and other substances occur in plant ?

TETS (@FALS AN, 4T W W 5w s Afearfzs xy 9

SO T, M]3 URTA] 57 Sy &5t darfio W )

wod pieoquuesse mmm//:dny
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